
Name Date 
 

 
 

Captain Salamander has 3 sacks of presents to deliver.  

In each sack there are up to 5 presents. 

 

 

 

 

 

 

In the yellow and red sacks, he has 6 presents. 

In the yellow and green sacks, he has 7 presents. 

In the red and green sacks, he has 5 presents. 

How many presents are there in each sack? 

Yellow sack _____  Red Sack _____  Green sack _____ 

 

How many presents altogether? _____ 

 

Yellow sack Red sack Green sack 
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Captain Salamander has 3 sacks of presents to deliver.  

In each sack there are up to 5 presents. 

 

 

 

 

 

 

 

In the yellow and red sacks, he has 6 presents. 

In the yellow and green sacks, he has 7 presents. 

In the red and green sacks, he has 5 presents. 

How many presents are there in each sack? 

 

Yellow sack 4  Red Sack 2  Green sack 3 

 

How many presents altogether? 9 

Yellow sack Red sack Green sack 


